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HOMEWORK 3 

1. What is a random experiment produce: 

a) number of spots; 

b) random events; 

c) random outcomes; 

d) random experiments? 

 2. What is a single instantiation of a random experiment: 

   a) trial; 

   b) event; 

   c) random event; 

   d) random outcome? 

 3. How many elements contained in a set defining an elementary event: 

a) zero; 

b) one; 

c) two; 

d) total number of all possible outcomes? 

 4. If events cannot occur at the same time, they are said to be: 

   a) collectively exhaustive; 

   b) mutually exclusive; 

   c) compound; 

   d) impossible. 

 5. Which of groups listed below is an entire group of events? 

a) Random experiment is tossing a coin; events are: 

𝐴1 =  𝑕𝑒𝑎𝑑 ,  𝐴2 =  𝑡𝑎𝑖𝑙 . 

b) Random experiment is tossing of two coins; events are: 

𝐵1 =  𝑕𝑒𝑎𝑑, 𝑕𝑒𝑎𝑑 , 𝐵2 =  𝑡𝑎𝑖𝑙, 𝑡𝑎𝑖𝑙 . 

c) Random experiment is throwing of two dices; events are: 

𝐶1 =  6 𝑜𝑛 𝑓𝑎𝑐𝑒𝑠 𝑜𝑓 𝑏𝑜𝑡𝑕 𝑑𝑖𝑐𝑒𝑠 , 𝐶2 =  𝑛𝑜 6 𝑜𝑛 𝑓𝑎𝑐𝑒𝑠 𝑜𝑓 𝑏𝑜𝑡𝑕 𝑑𝑖𝑐𝑒𝑠 . 

d) random experiment is a transmission of two signals on communication 

link; events are: 

𝐷1 =  2 𝑠𝑖𝑔𝑛𝑎𝑙𝑠 𝑎𝑟𝑒 𝑐𝑜𝑟𝑟𝑢𝑝𝑡𝑒𝑑 ; 𝐷2 =  2 𝑠𝑖𝑔𝑛𝑎𝑙𝑠 𝑎𝑟𝑒𝑛`𝑡 𝑐𝑜𝑟𝑟𝑢𝑝𝑡𝑒𝑑 . 
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e) random experiment is a transmission of three messages on 

communication link; events are: 

𝐸1 =  𝑎𝑙𝑙 𝑚𝑒𝑠𝑠𝑎𝑔𝑒𝑠 𝑎𝑟𝑒 𝑡𝑟𝑎𝑛𝑠𝑚𝑖𝑡𝑡𝑒𝑑 𝑤𝑖𝑡𝑕𝑜𝑢𝑡 𝑒𝑟𝑟𝑜𝑟𝑠 ; 

𝐸2 =  𝑎𝑙𝑙 𝑚𝑒𝑠𝑠𝑎𝑔𝑒𝑠 𝑎𝑟𝑒 𝑡𝑟𝑎𝑛𝑠𝑚𝑖𝑡𝑡𝑒𝑑 𝑤𝑖𝑡𝑕 𝑒𝑟𝑟𝑜𝑟𝑠 . 

 6. In which group of events listed below events are incompatible? 

a) Random experiment is tossing of two coins; events are: 

𝐴1 =  𝑕𝑒𝑎𝑑 𝑓𝑜𝑟 𝑡𝑕𝑒 𝑓𝑖𝑟𝑠𝑡 𝑐𝑜𝑖𝑛 ,  𝐴2 =  𝑕𝑒𝑎𝑑 𝑓𝑜𝑟 𝑡𝑕𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑐𝑜𝑖𝑛 . 

b) Random experiment is two shots at a target; events are: 

𝐵1 =  𝑡𝑤𝑜 𝑚𝑖𝑠𝑠𝑒𝑠 , 𝐵2 =  𝑡𝑤𝑜 𝑕𝑖𝑡𝑠 . 

c) Random experiment is two shots at a target; events are: 

𝐶1 =  𝑜𝑛𝑒 𝑕𝑖𝑡 , 𝐶2 =  𝑜𝑛𝑒 𝑚𝑖𝑠𝑠 . 

d) Random experiment is drawing a two cards from the deck; events are: 

𝐷1 =  𝑡𝑤𝑜 𝑏𝑙𝑎𝑐𝑘 𝑐𝑎𝑟𝑑𝑠 , 𝐷2 =  𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒 𝑐𝑎𝑟𝑑𝑠 𝑖𝑠 𝑡𝑕𝑒 7 𝑜𝑓 𝑆𝑝𝑎𝑑𝑒𝑠 , 

𝐷3 =  𝑜𝑛𝑒 𝑜𝑓 𝑡𝑕𝑒 𝑐𝑎𝑟𝑑𝑠 𝑖𝑠 𝑡𝑕𝑒 𝑄𝑢𝑒𝑒𝑛 𝑜𝑓 𝐶𝑙𝑢𝑏𝑠 . 

e) Random experiment is a transmission of three messages by radio 

channel; events are: 

𝐸1 =  𝑓𝑖𝑟𝑠𝑡 𝑚𝑒𝑠𝑠𝑎𝑔𝑒 𝑐𝑜𝑛𝑡𝑎𝑖𝑛𝑠 𝑎𝑛 𝑒𝑟𝑟𝑜𝑟 ; 

𝐸2 =  𝑠𝑒𝑐𝑜𝑛𝑑 𝑚𝑒𝑠𝑠𝑎𝑔𝑒 𝑐𝑜𝑛𝑡𝑎𝑖𝑛𝑠 𝑎𝑛 𝑒𝑟𝑟𝑜𝑟 . 

7. In which group of events listed below events are equally possible (equally likely)? 

a) Random experiment is tossing a bent (defective) coin; events are: 

𝐴1 =  𝑕𝑒𝑎𝑑 ,  𝐴2 =  𝑡𝑎𝑖𝑙 . 

b) Random experiment is tossing of two coins; events are: 

𝐵1 =  𝑕𝑒𝑎𝑑, 𝑕𝑒𝑎𝑑 , 𝐵2 =  𝑡𝑎𝑖𝑙, 𝑡𝑎𝑖𝑙 . 

c)  Random experiment is drawing a card from the deck; events are: 

𝐶1 =  𝐴 𝐻𝑒𝑎𝑟𝑡 , 𝐶2 =  𝐴 𝐷𝑖𝑎𝑚𝑜𝑛𝑑 , 𝐶1 =  𝐴 𝐶𝑙𝑢𝑏 , 𝐶2 =  𝐴 𝑆𝑝𝑎𝑑𝑒 . 

d) Random experiment is throwing a die; events are: 

𝐷1 =  𝑚𝑜𝑟𝑒 𝑡𝑕𝑎𝑛 3 𝑠𝑝𝑜𝑡𝑠 , 𝐷2 =  𝑙𝑒𝑠𝑠 𝑡𝑕𝑎𝑛 𝑡𝑕𝑟𝑒𝑒 𝑠𝑝𝑜𝑡𝑠 . 
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